

A New Class of Finsler Metrics with Scalar Flag Curvature

Weidong SONG*, Xingshang WANG

School of Mathematics and Computer Science, Anhui Normal University, Anhui 241000, P. R. China

Abstract In this paper, we study a new class of general (α, β) -metrics F defined by a Riemannian metric α , a 1-form β and \mathcal{C}^∞ function $\phi(b^2, s)$. We provide the projective factor of a class of general (α, β) -metrics $F = \alpha\phi(b^2, s)$, and apply these formulae to compute its flag curvature.

Keywords scalar flag curvature; locally projectively flat; general (α, β) -metrics.

MR(2010) Subject Classification 53B40; 53C60; 58B20

1. Introduction

The (α, β) metrics were first introduced by Matsumoto [1]. They are Finsler metrics built from a Riemannian metric $\alpha = \sqrt{a_{ij}y^i y^j}$, 1-form $\beta = b_i(x)y^i$ and \mathcal{C}^∞ function $\phi(s)$ on a manifold M . A Finsler metric of (α, β) -metrics is given by the form

$$F = \alpha\phi(s), \quad s := \frac{\beta}{\alpha}.$$

It is known that F is positive and strongly convex on $TM \setminus \{0\}$ if and only if

$$\phi(s) > 0, \quad \phi(s) - s\phi'(s) + (b^2 - s^2)\phi''(s) > 0, \quad |s| \leq b < b_0,$$

where $b = \|\beta\|_\alpha$.

The aim of this paper is to study a new class of Finsler metrics given by [2]

$$F = \alpha\phi(b^2, s), \quad s := \frac{\beta}{\alpha}, \tag{1.1}$$

where $\phi = \phi(b^2, s)$ is a \mathcal{C}^∞ positive function and $b = \|\beta\|_\alpha$.

One important example of (α, β) -metric was given by L. Berwald

$$F = \frac{(\sqrt{(1 - |x|^2)|y|^2 + \langle x, y \rangle^2} + \langle x, y \rangle)^2}{(1 - |x|^2)^2 \sqrt{(1 - |x|^2)|y|^2 + \langle x, y \rangle^2}}. \tag{1.2}$$

Received April 20, 2011; Accepted October 31, 2011

Supported by the National Natural Science Foundation of China (Grant No. 11071005), Foundation for Excellent Young Talents of Higher Education (Grant No. 2011SQRL021ZD) and the Natural Science Foundation of Anhui Educational Committee (Grant No. KJ2010A125).

* Corresponding author

E-mail address: swd56@sina.com (Weidong SONG); wxshangsd@163.com (Xingshang WANG)

It is a projectively flat Finsler metrics on $\mathbb{B}^n \subset \mathcal{R}^n$ with flag curvature $K = 0$. Berwald's metric can be expressed in the form

$$F = \alpha\phi(b^2, s) = \alpha(\sqrt{1+b^2} + s)^2, \quad (1.3)$$

where

$$\alpha = \frac{\sqrt{(1-|x|^2)|y|^2 + \langle x, y \rangle^2}}{1-|x|^2}, \quad \beta = \frac{\langle x, y \rangle}{(1-|x|^2)^{3/2}}, \quad (1.4)$$

$$s := \frac{\beta}{\alpha}, \quad b^2 = \frac{|x|^2}{1-|x|^2}. \quad (1.5)$$

Then we apply these formulae to discuss a class of general (α, β) -metrics $F = \alpha\phi(b^2, s)$.

Let μ be an arbitrary constant and $\Omega = \mathcal{B}^n(r_\mu)$ where $r_\mu = 1/\sqrt{-\mu}$ if $\mu < 0$ and $r_\mu = +\infty$ if $\mu \geq 0$. Let $|\cdot|$ and $\langle \cdot, \cdot \rangle$ be the standard Euclidean norm and inner product in \mathbb{R}^n , respectively. Define $F : T\Omega \rightarrow [0, \infty)$ by

$$\alpha(x, y) := \frac{\sqrt{(1+\mu|x|^2)|y|^2 - \mu\langle x, y \rangle^2}}{1+\mu|x|^2}, \quad (1.6)$$

$$\beta(x, y) := \frac{\lambda\langle x, y \rangle + (1+\mu|x|^2)\langle a, y \rangle - \mu\langle a, x \rangle\langle x, y \rangle}{(1+\mu|x|^2)^{3/2}}, \quad (1.7)$$

where λ is an arbitrary constant and $a \in \mathbb{R}^n$ is a constant vector. We obtain the following result:

Theorem 1.1 *Let $F = \alpha\phi(b^2, s) : T\Omega \rightarrow [0, \infty)$ be any function given in (1.6) and (1.7). Define a function $\phi(b^2, \frac{\beta}{\alpha}) = (\sqrt{1+b^2} + \frac{\beta}{\alpha})^2$. It has the following properties:*

(1) *The norm of β with respect to α is given by*

$$b^2 = \|\beta_\alpha\|^2 = \frac{\lambda^2}{1+\mu|x|^2}|x|^2 + \frac{2\lambda}{1+\mu|x|^2}\langle a, x \rangle + |a|^2 - \frac{\mu}{1+\mu|x|^2}\langle a, x \rangle^2. \quad (1.8)$$

(2) *F is locally projectively flat, its projective factor P is given by*

$$P = \theta + c\alpha \frac{1}{\sqrt{1+b^2}}. \quad (1.9)$$

(3) *F is of scalar flag curvature and its flag curvature is given by*

$$K = \frac{1}{\sqrt{1+b^2}(\sqrt{1+b^2} + s)^3}(\mu + \frac{c^2}{1+b^2}), \quad (1.10)$$

where

$$\theta = \frac{\alpha_{x^k} y^k}{2\alpha} = -\frac{\mu\langle x, y \rangle}{1+\mu|x|^2},$$

$$c^2 = (1+\mu|x|^2)^{-1}(\lambda - \mu\langle a, x \rangle)^2.$$

Remark Take $\lambda = 1$, $a = 0$, $\mu = -1$ in Theorem 1.1, then $F = \alpha\phi(b^2, s)$ is the Berwald's metric, its projective factor

$$P = \frac{\langle x, y \rangle}{1-|x|^2} + \frac{\sqrt{(1-|x|^2)|y|^2 + \langle x, y \rangle^2}}{(\sqrt{1-|x|^2})^3},$$

and its flag curvature $K = 0$.

2. General (α, β) -metrics

Definition 2.1 Let F be a Finsler metric on a manifold M^n . F is called a general (α, β) -metric if it can be expressed as the form $F = \alpha\phi(b^2, s)$ ($s := \frac{\beta}{\alpha}$), where $\|\beta\|_\alpha \leq b_0$ and $\phi = \phi(b^2, s)$ is a positive \mathcal{C}^∞ function.

Proposition 2.2 Let M be an n -dimensional manifold. A function $F = \alpha\phi(b^2, s)$ on TM is a Finsler metric on M for any Riemannian metric α and 1-form β with $\|\beta\|_\alpha < b_0$ if and only if $\phi = \phi(b^2, s)$ is a positive \mathcal{C}^∞ function satisfying

$$\phi > 0, \quad \phi - s\phi_2 + (b^2 - s^2)\phi_{22} > 0, \quad (2.1)$$

where s and b are arbitrary numbers with $|s| \leq b < b_0$.

Proof It is easy to verify F is a function with regularity and positive homogeneity. In the following we will verify strong convexity: The $n \times n$ Hessian matrix

$$(g_{ij}) := \left(\left[\frac{1}{2} F^2 \right]_{y^i y^j} \right).$$

For the general (α, β) -metric $F = \alpha\phi(b^2, \frac{\beta}{\alpha})$, direct computations yield

$$[F^2]_{y^i} = [\alpha^2]_{y^i} \phi^2 + 2\alpha^2 \phi \phi_2 s_{y^i}, \quad (2.2)$$

$$\begin{aligned} [F^2]_{y^i y^j} = & [\alpha^2]_{y^i y^j} \phi^2 + 2[\alpha^2]_{y^i} \phi \phi_2 s_{y^j} + 2[\alpha^2]_{y^j} \phi \phi_2 s_{y^i} + 2\alpha^2 [\phi_2]^2 s_{y^i} s_{y^j} + \\ & 2\alpha \phi_{22} \phi_2 s_{y^i} s_{y^j} + 2\alpha [\phi_2]^2 s_{y^i y^j}. \end{aligned} \quad (2.3)$$

Direct computations yield

$$g_{ij} = \rho a_{ij} + \rho_0 b_i b_j + \rho_1 (b_i \alpha_{y^j} + b_j \alpha_{y^i}) - s \rho_1 \alpha_{y^i} \alpha_{y^j}, \quad (2.4)$$

where

$$\rho = \phi(\phi - s\phi_2), \quad \rho_0 = \phi\phi_{22} + \phi_2\phi_2, \quad \rho_1 = (\phi - s\phi_2)\phi_2 - s\phi\phi_{22}.$$

By Lemma 1.1.1 in [3], we find a formula for $\det(g_{ij})$

$$\det(g_{ij}) = \phi^{n+1} (\phi - s\phi_2)^{n-2} (\phi - s\phi_2 + (b^2 - s^2)\phi_{22}) \det(a_{ij}). \quad (2.5)$$

Assume that (2.1) is satisfied. Then by taking $b = s$ in (2.1), we see that the following inequality holds for any s with

$$\phi - s\phi_2 > 0, \quad |s| < b_0. \quad (2.6)$$

Using (2.1), (2.5) and (2.6), we get $\det(g_{ij}) > 0$, namely (g_{ij}) is positive-definite. The converse is obvious, so the proof is omitted here.

By Lemma 1.1.1 in [3], we find a formula for (g^{ij})

$$g^{ij} = \rho^{-1} \{ a^{ij} + \eta b^i b^j + \eta_0 \alpha^{-1} (b^i y^j + b^j y^i) + \eta_1 \alpha^{-2} y^i y^j \}, \quad (2.7)$$

where $(g^{ij}) = (g_{ij})^{-1}$, $(g_{ij}) = \frac{1}{2}[F^2]_{y^i y^j}$, $(a^{ij}) = (a_{ij})^{-1}$, $b^i = a^{ij}b_j$,

$$\eta = -\frac{\phi_{22}}{(\phi - s\phi_2 + (b^2 - s^2)\phi_{22})}, \quad \eta_0 = -\frac{(\phi - s\phi_2)\phi_2 - s\phi\phi_{22}}{\phi(\phi - s\phi_2 + (b^2 - s^2)\phi_{22})},$$

$$\eta_1 = \frac{(s\phi + (b^2 - s^2)\phi_2)((\phi - s\phi_2)\phi_2 - s\phi\phi_{22})}{\phi^2(\phi - s\phi_2 + (b^2 - s^2)\phi_{22})}.$$

Lemma 2.3 ([2]) *Let $F = \alpha\phi(b^2, s)$ be a general (α, β) -metric on a manifold M with dimension $n \geq 2$. Then F is locally projectively flat if the following conditions hold:*

- 1) *The function $\phi(b^2, s)$ satisfies the following partial differential equation*

$$\phi_{22} = 2(\phi_1 - s\phi_{12}). \quad (2.8)$$

- 2) *α is locally projectively flat, β is closed and conformal with respect to α .*

Remark Note that ϕ_1 means the derivation of ϕ with respect to the first variable b^2 . In this paper, a 1-form is called conformal with respect to a Riemannian metric if its dual vector field with respect to the Riemannian metric is conformal.

Proposition 2.4 *Suppose general (α, β) -metric $F = \alpha\phi(b^2, \frac{\beta}{\alpha})$ is a projectively flat Finsler metric, then its projectively factor P is given by*

$$P = \frac{2\alpha^{-1}(\phi - s\phi_2)G_\alpha^m y_m + \phi_2(2b_m G_\alpha^m + r_{00}) + 2\alpha\phi_1(r_0 + s_0)}{2F}, \quad (2.9)$$

where G_α^m denotes the spray coefficients of α , $r_{00} = r_{ij}y^i y^j$, $r_0 = b^j r_{ij}y^i$, $s_0 = b^j s_{ij}y^i$.

Proof Recall that the spray coefficients of a Finsler metric F are given by $G^i = Py^i + Q^i$, where $P = P(x, y)$ is given by

$$P = \frac{F_{x^k} y^k}{2F}. \quad (2.10)$$

For the general (α, β) -metric $F = \alpha\phi(b^2, \frac{\beta}{\alpha})$. Direct computations yield

$$F_{x^k} = \alpha_{x^k} \phi + \alpha\phi_1[b^2]_{x^k} + \alpha\phi_2 s_{x^k}, \quad (2.11)$$

$$F_{x^k} y^k = \alpha_{x^k} y^k \phi + \alpha\phi_1[b^2]_{x^k} y^k + \alpha\phi_2 s_{x^k} y^k. \quad (2.12)$$

We have

$$\alpha_{x^k} y^k = \frac{2}{\alpha} G_\alpha^m y_m, \quad s_{x^k} = \frac{1}{\alpha} b_{mk} y^m + \frac{1}{\alpha^2} \{b_m \alpha - s y_m\} \frac{\partial G_\alpha^m}{\partial y^k}, \quad (2.13)$$

$$s_{x^k} y^k = \frac{r_{00}}{\alpha} + \frac{2}{\alpha^2} \{b_m \alpha - s y_m\} G_\alpha^m, \quad [b^2]_{x^k} y^k = 2(r_0 + s_0). \quad (2.14)$$

Substituting them into (2.10), by a direct computation we can obtain

$$P = \frac{2\alpha^{-1}(\phi - s\phi_2)G_\alpha^m y_m + \phi_2(2b_m G_\alpha^m + r_{00}) + 2\alpha\phi_1(r_0 + s_0)}{2F}. \quad (2.15)$$

Example 2.4 Consider the Funk metric $F = \alpha\phi(b^2, s)$ on the unit ball $\mathcal{B}^n \subset \mathcal{R}^n$,

$$F = \frac{\sqrt{|y|^2 - (|x|^2|y|^2 - \langle x, y \rangle^2)}}{1 - |x|^2} + \frac{\langle x, y \rangle}{1 - |x|^2}.$$

Funk metric can be expressed in the form

$$F = \alpha\phi(b^2, s) = \alpha \frac{s + \sqrt{1 - (b^2 - s^2)}}{1 - b^2},$$

where

$$\alpha = |y|, \quad \beta = \langle x, y \rangle, \quad b^2 = |x|^2.$$

By a direct computation, one obtains

$$\phi_{22} = 2(\phi_1 - s\phi_{12}).$$

α has constant sectional curvature $K = 0$, β is closed and conformal with respect to α . So Funk metric satisfies two conditions of Lemma 2.3. Namely, it is a projectively flat Finsler metrics with $G^i = Py^i$, where

$$P = \frac{1}{2} \left\{ \frac{\sqrt{|y|^2 - (|x|^2|y|^2 - \langle x, y \rangle^2)}}{1 - |x|^2} + \frac{\langle x, y \rangle}{1 - |x|^2} \right\},$$

and its flag curvature $K = -\frac{1}{4}$.

3. Proof of Theorem 1.1

A Finsler metric $F = F(x, y)$ on an open domain $\mathcal{U} \subset \mathbb{R}^n$ is said to be projectively flat in \mathcal{U} if all geodesics are straight lines. This is equivalent to $G^i = P(x, y)y^i$, where $G^i = G^i(x, y)$ are the spray coefficients of F , which are given by

$$G^i = \frac{1}{4} g^{il} \{ [F^2]_{x^m y^l} y^m - [F^2]_{x^l} \}. \quad (3.1)$$

In this case the flag curvature K is a scalar function on $T\mathcal{U}$ given by

$$K = \frac{P^2 - P_{x^m} y^m}{F^2}. \quad (3.2)$$

Set

$$\omega = 1 + \mu|x|^2, \quad \alpha^2 = a_{ij}y^i y^j, \quad \beta = b_i y^i. \quad (3.3)$$

Then

$$a_{ij} = \frac{\delta_{ij}}{\omega} - \frac{\mu x^i x^j}{\omega^2}, \quad b_i = \frac{\lambda x^i + (1 + \mu|x|^2)a^i - \mu \langle a, x \rangle x^i}{(1 + \mu|x|^2)^{\frac{3}{2}}}. \quad (3.4)$$

By a simple calculation, we get

$$\alpha_{x^k} y^k = -\frac{2\mu \langle x, y \rangle}{\omega} \alpha, \quad (3.5)$$

and

$$\alpha_{x^k} y^l y^k - \alpha_l = (\alpha_{x^k} y^k)_{y^l} - 2\alpha_l = 0. \quad (3.6)$$

By G. Hamel Theorem [4], we get α is a projectively flat Finsler metric, and its projectively factor is given by

$$\theta = \frac{\alpha_{x^k} y^k}{2\alpha} = -\frac{\mu \langle x, y \rangle}{1 + \mu|x|^2},$$

and sectional curvature of α

$${}^\alpha K = \frac{\theta^2 - \theta_{x^m} y^m}{\alpha^2} = \frac{\mu \alpha^2}{\alpha^2} = \mu.$$

Write

$$(a^{ij}) = (a_{ij})^{-1}.$$

By Lemma 1.1.1 in [3] we have

$$a^{ij} = \omega(\delta^{ij} + \mu x^i x^j). \quad (3.7)$$

Using (3.4) and (3.7), we get

$$\begin{aligned} b^2 &= \|\beta\|_\alpha^2 = a^{ij} b_i b_j \\ &= \omega(\delta^{ij} + \mu x^i x^j) \frac{\lambda x^i + (1 + \mu|x|^2)a^i - \mu \langle a, x \rangle x^i}{(1 + \mu|x|^2)^{\frac{3}{2}}} \\ &\quad \frac{\lambda x^j + (1 + \mu|x|^2)a^j - \mu \langle a, x \rangle x^j}{(1 + \mu|x|^2)^{\frac{3}{2}}} \\ &= \frac{\lambda^2}{1 + \mu|x|^2} |x|^2 + \frac{2\lambda}{1 + \mu|x|^2} \langle a, x \rangle + |a|^2 - \frac{\mu}{1 + \mu|x|^2} \langle a, x \rangle^2. \end{aligned} \quad (3.8)$$

By approximate evaluation, if $\mu \geq 0$,

$$b^2 \leq \frac{\lambda^2}{1 + \mu|x|^2} |x|^2 + \frac{2\lambda}{1 + \mu|x|^2} \langle a, x \rangle + |a|^2. \quad (3.9)$$

Using $1 + \mu|x|^2 > 1$, $\langle a, x \rangle \leq |a||x|$, we obtain

$$b^2 \leq \left(\frac{|\lambda|}{\sqrt{\mu}} + |a| \right)^2.$$

If $\mu < 0$, then

$$b^2 \leq \left(\frac{|\lambda|}{\sqrt{-\mu}} + |a| \right)^2 + |a|^2 \sqrt{-\mu}.$$

So b^2 has upper bound. We get $F = \alpha\phi(b^2, s)$ satisfies two conditions of Proposition 2.2 by the above equalities, therefore F is Finsler metric.

Let $b_{i|j}$ denote the coefficients of the covariant derivative of β with respect to α . Let

$$\begin{aligned} r_{ij} &= \frac{1}{2}(b_{i|j} + b_{j|i}), \quad s_{ij} = \frac{1}{2}(b_{i|j} - b_{j|i}), \quad r_{00} = r_{ij} y^i y^j, \quad s^i_j = a^{ik} s_{kj}, \\ s^i_0 &= s^i_j y^j, \quad r_i = b^j r_{ij}, \quad s_i = b^j s_{ij}, \quad r_0 = r_i y^i, \\ s_0 &= s_i y^i, \quad r^i = a^{ij} r_j, \quad s^i = a^{ij} s_j, \quad r = b^i r_i. \end{aligned} \quad (3.10)$$

It is easy to see that β is closed if and only if $s_{ij} = 0$. We have

$$b_{i|j} = \frac{\partial b_i}{\partial x^j} - b_k \Gamma^k_{ij}. \quad (3.11)$$

From (3.3), we get $\frac{\partial \omega}{\partial x^i} = 2\mu x^i$. Together with (3.7) we have

$$\frac{\partial a_{ij}}{\partial x^i} = -\frac{\mu}{\omega^2} (\delta_{il} x_i + \delta_{il} x_j + 2\delta_{ij} x_l) + \frac{4\mu^2}{\omega^3} x_i x_j x_k. \quad (3.12)$$

By (3.7) and (3.12), we get the Christoffel symbols of α .

$$\Gamma^k_{ij} = \frac{1}{2}a^{kl}\left(\frac{\partial a_{il}}{\partial x^j} + \frac{\partial a_{jl}}{\partial x^i} - \frac{\partial a_{ij}}{\partial x^l}\right) = -\frac{\mu}{\omega}(x^i\delta_{jk} + x^j\delta_{ik}).$$

Note that b_i satisfies (3.7), we have

$$\begin{aligned} b_k\Gamma^k_{ij} &= -\frac{2\mu x^i x^j}{\omega^{5/2}}(\lambda - \mu\langle a, x \rangle) - \frac{\mu\omega}{\omega^{5/2}}(a_i x_j + a_j x_i), \\ \frac{\partial b_i}{\partial x^j} &= \frac{(\lambda - \mu\langle a, x \rangle)\delta_{ij} - \mu(a_i x_j + a_j x_i)}{\omega^{3/2}} - 3\mu x^i x^j \frac{\lambda - \mu\langle a, x \rangle}{\omega^{5/2}}. \end{aligned} \quad (3.13)$$

By (3.11) and (3.13) we get

$$b_{i|j} = \frac{\delta_{ij}}{\omega^{3/2}}(\lambda - \mu\langle a, x \rangle) - \frac{\mu x^i x^j}{\omega^{5/2}}(\lambda - \mu\langle a, x \rangle). \quad (3.14)$$

The last equality implies

$$s_{ij} = 0, \quad r_{ij} = \omega^{-\frac{1}{2}}(\lambda - \mu\langle a, x \rangle)a_{ij}.$$

So β is closed and conformal with respect to α with conformal factor $c(x) = \omega^{-\frac{1}{2}}(\lambda - \mu\langle a, x \rangle)$.

By a direct calculation, differentiating $F = \alpha(\sqrt{1+b^2}+s)^2$ with respect to b^2, s yields

$$\phi_1 - s\phi_{12} = \phi_{22}. \quad (3.15)$$

We know ϕ satisfies two conditions of Lemma 2.3 by the above equalities. So F is locally projectively flat. It is obvious that

$$\begin{aligned} r_{00} &= c\alpha^2, \quad r_0 = c\beta, \quad r = cb^2, \\ r^i &= cb^i s^i_0, \quad s_0 = 0, \quad s^i = 0. \end{aligned} \quad (3.16)$$

Substituting (3.16) into projective factor P in Proposition 2.4 gives

$$\begin{aligned} P &= \frac{2\alpha^{-1}(\phi - s\phi_2)G_\alpha^m y_m + \phi_2(2b_m G_\alpha^m + r_{00}) + 2\alpha\phi_1(r_0 + s_0)}{2F} \\ &= \frac{2\theta\alpha(\phi - s\phi_2) + \phi_2(2\theta\beta + c\alpha^2) + 2c\alpha\phi_1\beta}{2F} \\ &= \frac{2\theta\alpha\phi + c\alpha^2(2\phi_1 s + \phi_2)}{2F} \\ &= \theta + c\alpha \frac{1}{\sqrt{1+b^2}}, \end{aligned} \quad (3.17)$$

where

$$\theta = \frac{\alpha_{x^k} y^k}{2\alpha} = -\frac{\mu\langle x, y \rangle}{1 + \mu|x|^2}. \quad (3.18)$$

By a direct computation, we get

$$P_{x^k} y^k = \theta_{x^k} y^k + c_{x^k} y^k \alpha \frac{1}{\sqrt{1+b^2}} + \alpha_{x^k} y^k c \frac{1}{\sqrt{1+b^2}} - \frac{c\alpha[b^2]_{x^k} y^k}{2(1+b^2)^{\frac{3}{2}}}, \quad (3.19)$$

$$P^2 - P_{x^k} y^k = (\theta^2 - \theta_{x^k} y^k) + (2\alpha\theta c - \alpha_{x^k} y^k c - c_{x^k} y^k \alpha) \frac{1}{\sqrt{1+b^2}} + \frac{c^2 \alpha^2}{1+b^2} + \frac{c\alpha[b^2]_{x^k} y^k}{2(1+b^2)^{\frac{3}{2}}}, \quad (3.20)$$

$$c_{x^k} y^k = -\mu\beta. \quad (3.21)$$

By (3.2), (3.20) and (3.21), we get

$$\begin{aligned} K &= \frac{P^2 - P_{x^k} y^k}{F^2} = \frac{1}{\alpha^2 \phi^2} \left\{ \alpha^2 \mu + \frac{\mu \alpha_\beta}{\sqrt{1+b^2}} + (\sqrt{1+b^2} + s) \frac{c^2 \alpha^2}{(1+b^2)^{3/2}} \right\} \\ &= \frac{1}{\sqrt{1+b^2}(\sqrt{1+b^2} + s)^3} \left(\mu + \frac{c^2}{1+b^2} \right). \quad \square \end{aligned} \quad (3.22)$$

References

- [1] M. MATSUMOTO. *The Berwald connection of Finsler space with an (α, β) metric*. Tensor (N,S), 1991, **50**: 18–21.
- [2] Changtao YU, Hongmei ZHU. *On a new class of Finsler metrics*. Differential Geom. Appl., 2011, **29**(2): 244–254.
- [3] S. S. CHERN, Zhongmin SHEN. *Riemann-Finsler Geometry*. World Scientific Publishing Co. Pte. Ltd., Hackensack, NJ, 2005.
- [4] G. HAMEL. *Über die Geomeyrieen in denen die Geraden die Kürzesten sind*. Math Ann., 1903, **57**: 131–246. (in German)
- [5] Benling LI, Zhongmin SHEN. *On a class of projectively flat Finsler metrics with constant flag curvature*. Internat. J. Math., 2007, **18**(7): 749–760.
- [6] Zhongmin SHEN, Y. G. CIVI. *On a class of projectively flat metrics with constant flag curvature*. Canad. J. Math., 2008, **60**(2): 443–456.